
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

5th Month, 1st Week, 5th Day Exercise 4.2 Q # (8 to 10)

 Answer the following questions:  

Q.1. Draw a line segment PQ of measure 6cm. Take a point A above PQ and

draw a perpendicular from the point A to PQ. What is the shortest

distance of point A from PQ?     (1x5=5)

PQA  PQA  A  PQ  PQ = 6cm 


Q.2. Construct a triangle FGH with mGH = 6.3cm,  = 55o and mFG =

6.9cm.      (1x5=5)

 mFG = 6.9cm   = 55omGH = 6.3cm  FGH 
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